Best model for HELP J142811.874+344203.494 atz = 1.754 )(2=5.73
OPTx?=4.94 IRY?=11.06 threshold (OPT IR)=22.03 [um]

Flux [m])y]

102 : Stellar attenuated
e L Stellar unattenuated
—— Dust emission
r\ —— AGN emission
1 = Model spectrum
10 [I][] ® Model fluxes
M oObserved fluxes
10°
10—1 g -
Fi (- \]
f«y"’!‘\.*""‘w--" ~
d ™ N
1072 B

21073
) 1
q_— 1 ]
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
] 0 [ = o B 4 B T Y L . L L
o ]
) ]
2 ]
5 ]
© -1 T T aas CIGALE
()
(o'

10° 10! 107 103 10 10° A
Observed wavelength [um]



